Potencias de 10 (I)

67100

4910

4910

79 <1000

32100

351000

34100

27100

6010

811000

Calcule los siguientes cocientes.

56100

84 = 1000

710

31000

79 =+ 1000

301000

83 1000

38 =1000

41 +1000

67100
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Potencias de 10 (I) Respuestas

67+ 100
0.67
4910
4.9
49 - 10
4.9
79 = 1000
0.079
32 +100
0.32
351000
0.035
34 +100
0.34
27+100
0.27
60+ 10
6
81+ 1000
0.081

Calcule los siguientes cocientes.

56100
0.56
84 = 1000
0.084
7-+10
0.7
3 +1000
0.003
79 +1000
0.079
301000
0.03
83 +1000
0.083
38 +-1000
0.038
41 +1000
0.041
67100
0.67
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